CLASS 11TH - ANSWER KEY

Correct Option

Question No.

Ol ||| || ||| Q|O||O]ln]|O
o
2
m1234567890123456789%
S|0|0]|0|0|w|0]|w|x|o|d]|a|a|a|a|a|a|a|d|n|S
(7))
]
S
g
c
(]
2
)
M ISR dEd -] -] ia) falfa)l fa] Fa] FO] ¥..) Fa) -4 N ] o) B4 2] Fa] (O] JO) Fa] [O) IO IO Fa) fa] Fa] O] N-a) N..) Fal KGR NG} -2} ES 4 Fa] N-a) RS g N
(8]
]
S
S
<)
o
o
2
Slalalm|a|v]|ol~|o]|alo|a|alm|t|v]o[~]|o]alo|a|alm|s|v]ol~|o|alo|a|a|n|t|wv]o[~]o]|a|o
SRR R B B R S B B Pl R e el B el ) ) e R R R e R R e R e B N D I B B B I BB
(7))
]
S
g
c
R
e}
)
slolalaluv]|o|o|la|la|a|la|lojo]o|lo]lalalo|alc|alo|alo|a|lv|c|o|u|a|a|l<|<|o|a|l<]|<|a|al<|o
(8]
]
S
S
o
o
=l I I ] B I Y R N E= L R B K B I R S R N R Y = B N B B e N e e K =)
Al N atl ol el [Nl Ml IES) IO e JRY ey (i ) Jfy ek f ) ) i) it} [Povl PN [PV IR RSN ISVE INNE IENE [P P Pl PP RO RVl IS Il [Pl N el Rl IS




